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4.58 (2.73m+2.73m 7.5 m W1500x2.5m 2 m 2 A 5 (M W1400/1% x 2.5m 2.5|m 3 A 9|HM
65 2.70mx3.6m 9.9 m W1500-1%x3m 3 m 3 A 8 [H W1400/1%) x 3m 3lm 4 A 11|M
= 3.6mx3.6m 13 m W1500-2%x3m 6 m 5 A 16 |M W1400/2% x 2.5m 5lm 6 A 18|H
10& |3.6mx4.5m 17 m W1500-2%%3.5m 7 m 6 A 19 |HM W1400/2%! x 3.5m 7l m 8 A 25|18
12& |3.6mx5.4m 20| m W1500- 2% x4m 8 m 7 A 22 |H W1400/2%] x 4m 8[m 10 A 29|1M
148 |4.5m x 5.4m 24| m W1500-3%%3.5m 10.5| m| 11 A 28 [H W1400/3%) x 3.5m | 10.5|m 13 A 38(H
18& |5.4m x 5.4m 29| m W1500- 3% x4m 12 |m| 14 |A 32 |H W1400/3% x 4m 12| m 14 A 43|H
238 |6.3m x 6.3m 39| m W1500-3%!x5m 15 |m| 16 | A 41 1M W1400/4%! x 4.5m 18| m 22 A 65(H
W1000/2%!) X 2.5m m 7 A 11|1M
W1000/2% x 3m m 8 A 13(H
W1000/3%! x 2.5m 7.5[m 11 A 16(H
W1000/3%! x 3m m 13 A 19|H
W1000/3%! x 4m 12lm 17 A 25(M
W1000/4%!) x 3.5m 141 m 20 A 29|1M
W1000/4% x 4.5m 18| m 25 A 38(H
W1000/5% x 4.5m | 22.5|m 32 A 47(H
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4,58 |W1500x2.5m 2 X 180 = 360 = 1000 = | 0.36] x 30| = 5 M 3,888 M
68 |W1500-1%x3m 3 X 180| = 540 = 1000 = | 0.54] x 30| = 8 M 5,832 M
8& [W1500-2%x3m 6 X 180| = 1,080 = 1000 = |1.08] x 30| = 16 M 11,664 |H
10& |W1500-2%51x3.5m 7 X 180 = 1,260 = 1000 = | 1.26] X% 30| = 19 M 13,608 |MH
128 [W1500-2%5!x4m 8 X 180| = 1,440 = 1000 = | 1.44| x 30| = 22 M 15,552 |H
14& |W1500-351x3.5m 11 | x 180| = 1,890 = 1000 = |1.89| x 30| = 28 M 20,412 |H
18& |[W1500-3%!x4m 12 | % 180 = 2,160 = 1000 = | 2.16] x 30| = 32 M 23,328 |H
238 |W1500-3%x5m 15 | % 180| = 2,700 = 1000 = 2.7 x 30| = 41 M 29,160 (M
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4,58 |W1400/1% x 2.5m 2.5] X 240 = 600 = 1000 = 0.6] x 30| = 9 M 6,480 M
6& [W1400/1%! x 3m X 240| = 720 = 1000 = | 0.72] % 30| = 11 M 7,776 2]
8& |W1400/2%! x 2.5m X 240| = 1,200 = 1000 = 1.2] x 30| = 18 M 12,960 |H
10& |W1400/2% x 3.5m X 240| = 1,680 = 1000 = | 1.68] x 30| = 25 M 18,144 |HM
128 [W1400/2%) x 4m X 240| = 1,920 = 1000 = | 1.92| x 30| = 29 M 20,736 |MH
148 |W1400/3% x 3.5m 11] x 240| = 2,520 = 1000 = | 2.52| % 30| = 38 M 27,216 (M
188 |[W1400/3%) x 4m 12| x 240| = 2,880 = 1000 = | 2.88] x 30| = 43 M 31,104 (M
238 |W1400/45! x 4.5m 18| x 240| = 4,320 = 1000 = | 4.32] % 30| = 65 M 46,656 |M
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4.58 |W1000/2%) X 2.5m X 140| = 700 = 1000 = 0.7 x 30| = 11 M 7,560 M
6& [W1000/2%! x 3m X 140 = 840 = 1000 = |0.84| x 30| = 13 M 9,072 M
8& |W1000/3%! x 2.5m 7.5] x 140 = 1,050 = 1000 = | 1.05] x 30| = 16 M 11,340 |H
10& |W1000/3%! x 3m X 140 = 1,260 = 1000 = | 1.26] X% 30| = 19 M 13,608 |M
12& |W1000/3%! x 4m 12| x 140 = 1,680 = 1000 = | 1.68] x 30| = 25 M 18,144 |H
148 |W1000/4%] x 3.5m 14] x 140 = 1,960 = 1000 = | 1.96| x 30| = 29 M 21,168 (M
18& |W1000/4%) x 4.5m 18| x 140 = 2,520 = 1000 = | 2.52| X 30| = 38 M 27,216 |H
238 |W1000/5% x 4.5m 23] X 140 = 3,150 = 1000 = | 3.15] x 30| = 47 M 34,020 (M
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4,58 |S22STES X 717 = 717 - 1000 = |[0.72| X 30| = 22 [22] 15,487 22}
685 [S22STES 717 = 717 - 1000 = | 0.72] X 30| = 22 22} 15,487 22}
8& |S25STES X 830 = 830 = 1000 = | 0.83] x 30| = 25 M 17,928 |H
102 |S28RTES 10| x 929 = 929 - 1000 = | 0.93| x 30| = 28 M 20,066 |H
125 [S36STES 12| x 1390 = 1,390 = 1000 = | 1.39] x 30| = 42 M 30,024 (M
142 |S40STEP 14] x 1544 = 1,544 - 1000 = | 1.54| x 30| = 46 M 33,350 |H
18& [S56STEP 18| x 2118| = 2,118 = 1000 = | 2.12] x 30| = 64 M 45,749 |H
238 [S71STCXP 23| x 2984| = 2,984 - 1000 = | 2.98] x 30| = 90 M 64,454 (M




